Curtailment Index
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First 6 year period from energisation

Actual curtailment in year 1

Actual curtailment



Example : HV Network Customer
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Actual curtailment in year 1 2.5% 9.2 days

Actual curtailment 0.4% (6 yr average) 9.2 days (6 yr cumulative)



Example : HV Network Customer

12 3.0% (11.1 days)
———————————————————————————————————————————— Curtailment Index

———————————————————————————————————————————— 2.5% (9.2 days)
| Forecast

No. Of days
[N
o

ON B O ®
|
|
|
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B Maintenance Construction B No Curtailment

Faults

Actual curtailment in year 2 1.09% 4 days

Actual curtailment 0.6% (6 yr average) 13 days (6 yr cumulative)



Example : HV Network Customer
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Faults Maintenance Construction B No Curtailment

Actual curtailment in year 3 3.0% 11 days

Actual curtailment 1.09% (6 yr average) 24 days (6 yr cumulative)
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Actual curtailment in year 4 2.7% 10 days

Actual curtailment 1.6% (6 yr average) 34 days (6 yr cumulative)



Example : HV Network Customer
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Actual curtailment in year 5 0.0% 0 days

Actual curtailment 1.6% (6 yr average) 34 days (6 yr cumulative)
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Actual curtailment in year 6 3.5% 13 days

Actual curtailment 2.1% (6 yr average) 47 days (6 yr cumulative)
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Example : HV Network Customer

The first six year
period has now come
to an end. Each year

that follows will utilise
the data from the
previous 6 years.
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Actual curtailment in year 7
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Example : HV Network Customer
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The average is based on the previous 6 years
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Example : HV Network Customer
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The average is based on the previous 6 years

Actual curtailment in year 7 5.4% 20 days

Actual curtailment 2.6% (6 yr average) 58 days (6 yr cumulative)
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Faults Maintenance Construction B No Curtailment

Actual curtailment in year 7 5.4% 20 days

Actual curtailment 2.6% (6 yr average) 58 days (6 yr cumulative)
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Example : HV Network Customer
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The average is based on the previous 6 years

Actual curtailment in year 8 4.1% 15 days

Actual curtailment 3.1% (6 yr average) 69 days (6 yr cumulative)
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Example : HV Network Customer
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Actual curtailment in year 8 4.1% 15 days

Actual curtailment 3.1% (6 yr average) 69 days (6 yr cumulative)
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Example : HV Network Customer
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18 The index has been

16 reached. ENWL will
seek to intervene and

14 propose a solution.
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Actual curtailment in year 8 4.1% 15 days

Actual curtailment 3.1% (6 yr average) 69 days (6 yr cumulative)
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